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Question 1 Find the inverse of the given matrix

A =

 1 −1 3
6 4 −3
2 3 −4



Question 2 Given that A and B are two square matrices of the same size. If |A| = 2
and |B|= 3 then find |(A−1B)T A3B2|.



Question 3 a) Show that the following system has a unique solution:
−2x+2y− z+2t = 0

2x+ y+2z−3t = 0
x− y− z+ t = 1
3x−3y+ z− t = 0

b) Find t only.

Question 4 Let V = R3. For any a = (x,y,z) ∈ V and any α ∈ R, the multiplicative
operator is given by:

α ·a = (αx,1,αz) .

Show that (V,+, ·) is not a vector space over R.


